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True/False

. For an alternating series of the form a, —ay+az—ay+...ifa, > a, 4, >0

and lim a, = 0, then the series converges.
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Teue

. A series that converges conditionally also converges absolutely.
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. A series converges absolutely in the interior of its convergence set.
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True

. You can find a Taylor series about any point x=a for any function f(x).
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. For an alternating series if the absolute ratio test give R=0, then the
series converges conditionally.
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3 Free Response

Sesres
Using the test of your choice determine if the following sequenees converge/diverge
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Determine whether the following series conditionally converges, absolutely
converges, or diverges.
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5. Find the Maclaurin series for f(:l?) —_— lIl( 1 —l" .CB)
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6. Find the convergence set and the radius of convergence for the Maclau-
rin series found in problem 5.
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7. Using the Maclaurin series you found in problem 5 solve for the power
1
series ofg(x) — 14z
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8. Find the 4th degree Taylor polynomial for h(fl? ) = SlIlh((L' ) about

the point a=1.
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